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¥ Graficky nahled 3D

| v Algebraické okno

[LIE[Ealer[Dr][dr]av]T~

D, = (-8.95, -1.46, 9.52) -+ ....---

B, = (-3.91, -4.03, 4.87) .------

A = (-6.38, -6.5, 2.47) =

16
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® kp=0

Mnohouhelnik

® podstava = 21.04

@ rez=34.25 e obsa bk
rez' = 34.25

Polopfimka

- @ AB;: X =(-8.92, -9.05, 0) + A (5.02, 5.02, 0)

1 -2.47x + 2.54y = 22.03

-.@ AB_:X=(-8.92, -9.05, 0) + A (2.54, 2.54, 2.47)

AD,: X = (-5.48, -8.27, 0) + A (-0.9, 1.77, 2.47)
AD,;: X = (-5.48, -8.27, 0) + A (-0.9, 1.77, 0)
AD: -2.47x - 0.9y = 13.53

AD_: X = (-5.48, -8.27, 0) + A (-0.9, 1.77, 2.47)
: X =(1.37, -6.72, 0) + A (-5.28, 2.69, 4.87)

o
BD,: X = (1.37, -6.72, 0) + A (-5.28, 2.69, 0)
BD,: X = (1.37, 0) + A (-5.28, 4.87)

BD,: X =(1.37, -6.72, 0) + A (-5.28, 2.69, 4.87)

Pétithelnik
® nadstava' = 21.04
® podstava' = 21.04

Pfimka
) stopal: X =(1.51, -6.69, 0) + A (23.58, 5.33,0) "~~~ "~ f‘) ﬂ 77’]

stopa,: X =(2.31, 0, 8.16) + A (18.81, 0, -5.33)
stpa: -2.78x - 9.82y = -86.56

Rovina . v
-@ MNyiz=0 "o o vl e Pop(g-é% y
Nyy=0
K af 23.58x + 5.33y = -185.1
Kgi 23.58x + 5.33y = -113.61
Kpi 23.58x + 5.33y = -218.82 .
‘@ p:-5.33x + 23.58y -18.81z = -165.87 - -~ e v o e A
p': -5.33x + 23.58y - 18.812 = -165.87
Trojahelnik

mnohouhelnikl = 11.79

trojuhelnik = 15.32

trojuhelni

trojuhelnik, = 9.41
Uhel

alef = 127.89°
® bet =0°

max = 127.89°
Usecka

Up, = 9.52

Up, = 9.52

Ugpo = 12.06

Uopy =7-4

® a=35
a',=7.32

ABP



